1. 6 resistors are connected to the 9 V battery as shown.

a. Find total resistance of this circuit.

b. Find current through resistor 5 'Q

c. Find voltage drop across 2 Q resistor

d. Find current through 6 Q resistor.

d. Find voltage drop across 9 Q resistor.

e. Find current through 18 Q resistor.



2. Find current in all resistors and find voltage across each resistor.
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3. Find current in all resistors and find voltage across each resistor. Battery provides
12V.
R, =500, R, = 20000, R; = 1000, R, = 500, Rs = 150Q, R, = 1002
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4. Find current in all resistors and find voltage across each resistor.

R2
G300 Thm

STATAY

—— LT " Ri R3
f— 1 k Ohim 4.7 k Ohrm

R4
1.5 kOhm
M

5. Find current in all resistors and find voltage across each resistor.
Ay = 25 ohms Ay =5 ohms

= B0 ohms Ry=
120 v G) 2 15 ahms

H5 = 20 ohms




6. Complete the table of values for this circuit:
T L} 2.2 ki

Vit
R,

Total

K T 03 I kix 5.6 k0 22 k02 630 L2

7. Complete the table of values for this circuit:

Ry 1500

Wit
500 £
ko =R, 2 R, <4500
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R, R, R, R, Total

v 11w

K | kia SO0 £3 1500 {3 450003






